1 2 3 | 4

1377 Overall

1227 Clear Opening

(1 T

N

SKEl

1200 x 600

556 Chamber Top Clear Opening
730 Overall

i [ T—— oy —_— - h—

Ll L]

ERA]

700
|

. L L

L@ L8 ()@

£ ._m{- ?=— E'Jr;! — '.‘-- — .

0 T — PN N B 1 : o
a'F= _—— I

Refer the Following 3D Cad File for Visual Reference:
D210-07-120607-A00 - Iss A - D210kN Chamber 1200 x 600 x 700.EASM

Total Mass = 71 kg

/4

@
(@)

Ei

Refer Sika Installation Guide

; H;-ﬁ.;f

L

-
Issue: | Issued By:

Or No:

Appvd By:

Date:

ANL

13-11-09

Released

CLIENT

PROJECT:

Alum Jointing Chamber
1200L x 600W x 700H

To Class D210kN Loads
To AS 3996 : 2006

TITLE:

700

Chamber 1200 x 600 x

Fax:

©

s E‘ a®
10 Blackburn Rd, East Tamaki
PO Box 58-491, Greenmount
Auckland, New Zealand.
Phone: +64 +9 274 5929
+64 +9 273 9509

Email: info@sikatech.co.nz
Website: www.sikatech.co.nz

COPYRIGHT RESERVED

THIS INFORMATION IS HIGHLY CONFIDENTIAL
& IS THE EXCLUSIVE PROPERTY OF
SIKA TECHNOLOGY LIMITED.

Unless Specified:

All Dimensions In Millimeters
Drawn to AS 1100

=

Drawn By: N Lush

Date:

13-11-09

Engineer: D Hill

Date:

13-11-09

Checked By:

Date:

Approved By:

Date:

Drg Size: A1

sht: 1

SCALE At A1:  1:10

Of: 2

Iss:

A

Drg No:

A

D210-07-120607-A00

%




] \(Issue: Issued By:| Or No: Appvd By:| Date:
NL 13-11-09
A Released
A
- 21 uOth]}/I 6 D210-07-0607-END
B Chamber 600W x 700H End
- g 2 Off
B \%
Q T~ D210-07-LIFTPLATE
Chamber Lifter Plate
@ @ i 4 Off
¢ X
C @ﬁ
P P ¢
& D210-07-06-CPDEP
2 Polyprop Duct Entry Panel
N % 2 | 2 Off
g &
S Nut M10 StSt @ -
€
% = & .
0 &
Nut M10 o CLIENT
Z 4 Off
; PROJECT:
M10 x 35 - L.
Frame Mount Bolt M10 Alum Jointing Chamber
14 Off . P 1200L x 600W x 700H
s > D210-07-1207-SIDE-P00
|~ Chamber 1200L x 700H Side
= 2 Off To Class D210kN Loads
PR To AS 3996 : 2006
| TITLE:
Chamber 1200 x 600 x
700
F
S :(a®
] 10 Blackburn Rd, East Tamaki
Aokt New searnd
Phone: +64 +9 274 5929
el Fax: " f6f4c-g;9.k27%’3 9%09
53 Email: info@sikatech.co.nz
Website: www.sikatech.co.nz
- COPYRIGHT RESERVED ©
G Masses: M10 x 45 THIS INFORMATION IS HIGHLY CONFIDENTIAL
Frame Mount Bolt M10 T e ProTe T oF
Base — 1 7 kg . Unless Specified: @ @

i Slde — 20 kg gévg#t St-St M10 All Dgp:\zzl?g;lsn 1I\/I1|(I)I|(;neters
End - 4 kg Drawn By: N Lush Date: | 13-11-09
Panel — 2 kg Engineer: D Hill Date: | 13-11-09

. — Checked By: Date:

’ R.al.ser — 0-3 kg Approved By: Date:
Fixings =1 kg Exploded View Drg Size: AT s 2 |
Total = 71 kg Refer the Following 3D Cad File for Visual Reference: CREA A M o2 | A

D210-07-120607-A00 - Iss A - D210kN Chamber 1200 x 600 x 700.EASM Drg No:
i \ D210-07-120607-A00
N g 7/




	Sheet1
	Drawing View2
	Drawing View7
	Drawing View10
	Drawing View11

	Sheet2
	Drawing View9


